Ratio to ATLAS

900 GeV pp _ pndgrlying Event

L L |
2<1\Ich> density wrt@ of leading track(|n| < 2.5, p_>0.5GeV,p >2GeY
1. |~ N
B m ATLAS ]
| --O-- Herwig 7.2.0 default |
1 e Sherpa 1.2.2p default ]
0.8 — —
6 — Hgl
0.6 i .....I. |
 Hn mn _
—ElEJ;..II I.l... EEEE'EEEED_
ek [ | [ | [ | ooy PR
0.4 ‘"0;‘.-l..l......l.l-llll EE'EEEI JPE oo
*4.q s CEEEEEEEEEEEE Iy e e ¢
B ST TN 2 404 -
0.2 — —]
a) _l | | | | | | | | ' | | | | | | |
:l T T T T | T T T T | T T T T | :
2 & -
1
B XES : ! _
—@Q?:o*.,,*,E?‘EEE"'?n‘EBEEIHI"EEE'IEIHEEBEIH'EED—
i e .Q.’_Q‘.’_._’. ‘.’.,Q.’.Q.’.Q.’.Q.".Q.’_’_’.Q.,’.Q..._’_’.’_’.’.’_’_Q.’_’_’ |
0.5 — ]
| 1 1 1 1 | 1 1 " 1 1 " | " 1 1 1 1 |
0 1 2 3

left|gright| (w.r.t. leading track) [rad]

Rivet 3.1.0, = 6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


